
Gerunds and Noun Phrases

Let’s Try! (Njarbo)

a- The environment is devastated because people over consume products.

b- Because of.................................................................................................................................................

....................................................................................................................................................................

a - Youths are aware of the dangers. They take risks.

Show Time! (Warini Chtartek)

a- Space exploration is costly. Space exploration has many benefits. (despite)

 a- Parents have to control their children's use of the Internet because there are some dangerous
sites.

a- The British came from different origins, but they succeeded to build a flourishing society.

a- Child labour is a violation of children's rights; therefore, strict regulations are to be implemented.

a- Advertising is very aggressive. Therefore, it should be banned.

a- Governments are making efforts to eradicate corruption. It is still prevalent in our society.

ENGLISHWITHILYES
FOLLOW ME ON INSTAGRAM

b- ....................................................................................................................................................................

....................................................................................................................................................................

b- In spite of ....................................................................................................................................................

....................................................................................................................................................................

b- Because of...................................................................................................................................................

....................................................................................................................................................................

b- Despite.........................................................................................................................................................

....................................................................................................................................................................

b- Despite.........................................................................................................................................................

....................................................................................................................................................................
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b- Because of.................................................................................................................................................

....................................................................................................................................................................

b- Because of.................................................................................................................................................

....................................................................................................................................................................



a- Countries have agreed to fight artifact trafficking. A lot of archaeological objects are still being
smuggled. (in spite of)

a- Companies apply whistleblowing rules. Companies suffer great financial losses.

 a- Houses were poorly built, that's why they often collapsed.

a- Children are less motivated. They have all the necessary means to learn at home.
(Despite)

a- Tipaza had a strategic location. Tipaza attracted many conquerors. 
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ENGLISHWITHILYES
FOLLOW ME ON INSTAGRAM

b-.......................................................................................................................................................................

....................................................................................................................................................................

b- Despite..........................................................................................................................................................

....................................................................................................................................................................

b- Because of..................................................................................................................................................

....................................................................................................................................................................

b- ......................................................................................................................................................................

....................................................................................................................................................................

b- Because of.................................................................................................................................................

....................................................................................................................................................................

b- ...................................................................................................................................................................

....................................................................................................................................................................
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b-....................................................................................................................................................................

....................................................................................................................................................................

a - People are afraid of the virus. They don’t wear masks. (in spite of)

a- Redmi phone are cheap. Redmi phone work perfectly fine. (despite)


